H3PO4 + Ca(OH)2 Ca3(PO4)2 + H2O

V2O5 + KOH K3VO4 + H2O

H2SeO3 + CsOH CsH5(SeO3)3 + H2O

HCl + ZnO ZnCl2 + H2O

Ca(OH)2 + NH4Cl CaCl2 + NH3 + H2O

Hg2Cl2 + KOH Hg2O + KCl + H2O

HNO3 + P4O10 HPO3 + N2O5

As2S5 + (NH4)2S (NH4)3AsS4

Sb2S3 + HCl SbCl3 + H2S

SiO2 + HF SiF4 + H2O

Na2CrO4 + H2SO4 Na2Cr2O7 + Na2SO4 + H2O

K2Cr2O7 + HCl KCrO3Cl + H2O
Ba(NH2)2 Ba3N2 + NH3

PCl5 + H2O POCl3 + HCl

PBr3 + H2O H3PO3 + HBr

SOCl2 + H2O H2SO3 + HCl

Bi(NO3)3 + H2O Bi(OH)2NO3 + HNO3

CaC2 + H2O C2H2 + Ca(OH)2

HgO + HCl Hg2Cl2O + H2O

B2O3 + NaBF4 BF3 + NaBO2

HgCl2 + NH3 HgNH2Cl + NH4Cl
BaO + O2 BaO2

KBrO3 + C KBr + CO2

Al + C2H2 + H2 (C2H5)3Al

Al + (C2H5)2Zn (C2H5)3Al + Zn

CS2 + Cl2 CCl4 + S2Cl2

Si + CH3Cl (CH3)2SiCl2

Ca3(PO4)2 + C + SiO2 P4 + CaSiO3 + CO

CuO + NH3 Cu + N2 + H2O

SO2 + NO + H2O H2SO4 + N2O

C + HNO3 CO2 + NO2 + H2O

P + HNO3 H3PO4 + NO2 + H2O

Sn + HNO3 SnO2 + NO2 + H2O

H2S + HNO3 S + NO + H2O

HCl + HNO3 Cl2 + NOCl + H2O

Ba + NH3 Ba(NH2)2 + H2

H2O2 + Na3AsO3 + AgNO3 Ag3AsO4 + NaNO3 + H2O

As2S3 + O2 As2O3 + SO2

PbS + O3 PbSO4 + O2

H2S + H2SO4 SO2 + S + H2O

SO3 + HBr SO2 + Br2 + H2O

Se + Cl2 + H2O H2SeO3 + HCl

F2 + H2O HF + O2

KI + Br2 KBr + I2

TiO2 + C + Cl2 TiCl4 + CO2

V2O5 + Al V + Al2O3

FeCr2O7 + O2 + Na2CO3 Na2CrO4 + Fe2O3 + CO2

K2Cr2O7 + SO2 + H2SO4 Cr2(SO4)3 + K2SO4 + H2O

Mn3O4 + Al Mn + Al2O3

KMnO4 + FeSO4 + H2SO4 MnSO4 + F2(SO4)3 + K2SO4 + H2O

FeSO4 Fe2O3 + SO3 + SO2

FeSO4 + Ce(SO4)2 Fe2(SO4)3 + Ce2(SO4)3

Co(NO3)2 CoO + NO2 + O2
CuFeS2 + O2 Cu2S + SO2 + FeO

Hg2Cl2 + SnCl2 SnCl4 + Hg

Hg2Cl2 + NH3 HgNH2Cl + Hg + NH4Cl

CuO + NH2OH Cu2O + N2O + H2O

(NH4)2Cr2O7 Cr2O3 + N2 + H2O

KMnO4 K2MnO4 + MnO2 + O2
CaH2 + H2O Ca(OH)2 + H2
Řešení:

2 H3PO4 + 3 Ca(OH)2 Ca3(PO4)2 + 6 H2O

V2O5 + 6 KOH K3VO4 + 3 H2O

3 H2SeO3 + CsOH CsH5(SeO3)3 + H2O

2 HCl + ZnO ZnCl2 + H2O

Ca(OH)2 + 2 NH4Cl CaCl2 + 2 NH3 + 2 H2O

Hg2Cl2 + 2 KOH Hg2O + 2 KCl + H2O

4 HNO3 + P4O10 HPO3 + 2 N2O5

As2S5 + 3 (NH4)2S (NH4)3AsS4

Sb2S3 + 6 HCl SbCl3 + 3 H2S

SiO2 + 4 HF SiF4 + 2 H2O

2 Na2CrO4 + H2SO4 Na2Cr2O7 + Na2SO4 + H2O

K2Cr2O7 + 2 HCl KCrO3Cl + H2O
3 Ba(NH2)2 Ba3N2 + 4 NH3

PCl5 + H2O POCl3 + 2 HCl

PBr3 + 3 H2O H3PO3 + 3 HBr

SOCl2 + 2 H2O H2SO3 + 2 HCl

Bi(NO3)3 + 2 H2O Bi(OH)2NO3 + 2 HNO3

CaC2 + 2 H2O C2H2 + Ca(OH)2

2 HgO + 2 HCl Hg2Cl2O + H2O

2 B2O3 + 3 NaBF4 BF3 + 3 NaBO2

HgCl2 + 2 NH3 HgNH2Cl + NH4Cl
2 BaO + O2 BaO2

2 KBrO3 + 3 C KBr + 3 CO2

2 Al + 6 C2H2 + 9 H2 (C2H5)3Al

2 Al + 3 (C2H5)2Zn (C2H5)3Al + 3 Zn

CS2 + 3 Cl2 CCl4 + S2Cl2

Si + 2 CH3Cl (CH3)2SiCl2

2 Ca3(PO4)2 + 10 C + 6 SiO2 P4 + 6 CaSiO3 + 10 CO

3 CuO + 2 NH3 Cu + N2 + 3 H2O

SO2 + 2 NO + H2O H2SO4 + N2O

C + 4 HNO3 CO2 + 4 NO2 + 2 H2O

P + 5 HNO3 H3PO4 + 5 NO2 + H2O

Sn + 4 HNO3 SnO2 + 4 NO2 + 2 H2O

3 H2S + 2 HNO3 S + 2 NO + 4 H2O

3 HCl + HNO3 Cl2 + NOCl + 2 H2O

Ba + 2 NH3 Ba(NH2)2 + H2

H2O2 + Na3AsO3 + 3 AgNO3 Ag3AsO4 + 3 NaNO3 + H2O

2 As2S3 + 9 O2 As2O3 + 6 SO2

PbS + 2 O3 PbSO4 + O2

H2S + H2SO4 SO2 + S + 2 H2O

SO3 + 2 HBr SO2 + Br2 + H2O

Se + 2 Cl2 + 3 H2O H2SeO3 + 4 HCl

4 F2 + 2 H2O HF + O2

2 KI + Br2 KBr + I2

TiO2 + C + 2 Cl2 TiCl4 + CO2

3 V2O5 + 10 Al V + 5 Al2O3

4 FeCr2O7 + O2 + 8 Na2CO3 Na2CrO4 + 2 Fe2O3 + 8 CO2

K2Cr2O7 + 3 SO2 + H2SO4 Cr2(SO4)3 + K2SO4 + H2O

3 Mn3O4 + 8 Al Mn + 4 Al2O3

2 KMnO4 + 10 FeSO4 + 8 H2SO4 MnSO4 + 5 Fe2(SO4)3 + 1 K2SO4 + 8 H2O

2 FeSO4 Fe2O3 + SO3 + SO2

2 FeSO4 + 2 Ce(SO4)2 Fe2(SO4)3 + Ce2(SO4)3

2 Co(NO3)2 CoO + 4 NO2 + O2
2 CuFeS2 + 4 O2 Cu2S + 3 SO2 + 2 FeO

Hg2Cl2 + SnCl2 SnCl4 + 2 Hg

Hg2Cl2 + 2 NH3 HgNH2Cl + Hg + NH4Cl

2 CuO + 2 NH2OH Cu + N2O + 3 H2O

(NH4)2Cr2O7 Cr2O3 + N2 + 4 H2O

KMnO4 K2MnO4 + MnO2 + O2
CaH2 + 2 H2O Ca(OH)2 + H2

